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Choose the besr answer o each guestion.

-3 Hamnah ansd 3 of here fetemds had bumch ot o eesrameane. The votal Bill was S2-4.940, If
they splat the hill equally, which nusmber sentenes coald be used pa find how much
sach person owes?

CE SR00 = 4=
W 33400 = 4 =0
£ §7490 « 4 - O
s 23400 — 4 =01

B  Arjun boaghs 19 video pames for 858,95 each. HINT: Look for by
Which mumbers give rthe best esrimare of the wiord: 1o sodee each
tgal cost?
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T Cacla®s family boaphs a bag of apples. They ate 15 apples in all, Each person age the
swme namber of apples. Whar else do vou seed 1o kow v fimd sur how many apples
cach pervon aec?

(R Ry mnany apples were intbe bag

i) v mvoch thee apples oosx

L b mnany people are im Carla’s Emily
(G by mnany apples were lefr
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